45-251 0251 STEEL BRAKE LINES AND BRASS UNIONS

RS PART NO. PART NO DESCRIPTION QTY. NEEDED
01-087A 0066 ASSMT BOX UP TO 24CMPT 2
14-196 3000 10
14-194 3001 10
14-200 3002 10
14-197 3003 10
14-195 3004 5
14-201 3005 5
14-198 3006 5/16 TUBE NUT 5
14-202 3007 2
3015 3/8 TUBE NUT 2
3016 2
3018 2
3020 1
14-181 3022 4
14-183 3023 2
14-182 3024 2
14-180 3025 2
14-180A 3026 2
14-184 3028 15
14-185 3040 5
14-186 3041 5
14-187 3042 5
14-189 3043 10
14-205 3044 3
3047 1
14-206 3059 2
3411 3
3413 4
14-174 3414 5
14-183A 3417 5
14-175 3420 2
14-171 3421 2
3422 2
14-173 3423 2
3424 2
3426 2
3433 1/4 TUBE NUT 12MMX1.25 GOLL 4
3439 2
3441 2
3442 3/8 TUBE NUT 5/8X18 TPI 2
3447 2
3449 2
3462 1/4 TUBE NUT 9/16 18 BUBBLE FL/ YELLC( 2
3463 2
3487 1
3488 1
3496 2
4238 1 174



0251- BRAKE LINE FITTINGS (2 BOX FULL COVERAGE)

o

3000 3001 3002 3022 3023
3/16” Tuse Nut 3/16” Tuse Nut Lone 3/16” Baake Line Union 3/16” x 7/16” Ourrsizen 3/16” x 1/2” Ouensizen
10 10 10 TuseMuTReD 3 Tust NuT GREEN [
3003 3004 3005 3025 3026
1/4” Tuse Nut 1/4” Tuge Nut Lone 1/4” Brake Line Union 1/4” x 9/16" Ouersizen 1/4" x1/2" Ouersizen
[10] 5 5 Tuse Nut Brue 7 Tuse Nut Gotn 7
3006 3007 3044 3047 3059
5/16” Tuse Nut 5/16" Brakr Line Union 10mm Brakr Line Union 3/16” Buesit FLare 3/16” Inuert Fioge
5 [2] 3 Brake Line Union [ Brake Line Uniow 5
3015 3018 3016 3442 3462
3/8” Tust Nut 3/8” Baake Line Union 1/2” Strer Tuse Nur 3/16"x5/8" 1/4” x9/16” OuErsizen
2] 2 2 TuseNutloke |5 Tuae Hut 7
R Sine1o0r2
0251- BRAKE LINE FITTINGS (2 BOX FULL GOVERAGE)
3028 3040 3041 3042 3043
10mm Tuee Hut Timm Tuee Hur DramGE 12mm Tuee Mut Biue 13mm Tuer Mut GREM 10mm JuPanese
[15 5 (5| 5 Tuer Mur 10
3413 3414 3417 3420 341
14 x 12wn x 1.0 10mm % Timm x 1.0 10mm X TiMm x 1.0 10mm x 1.0 BussLe Grmx 12mmx 1.0
Tuer Hur (3 Tues Nut 5 Tuer Nut 5 Tuer Mut [Z ] Tuee Nut 2
3423 3426 3433 3447 -1:";449
Gum x 14Mmx 1.5 JM6" v 12mm x 1.25 174" x 12mmx 1.25 14" x 12mm x 1.75 36" x 10Mmx 1.0
Tuer Hur 2 Tuee Nut 2 Tuge Nut 2 Tuee Mut 2 Tuee Mur 2
3487 3461 34an 3424 34m
516" 1 mux 15 1/4" x 12um x 1.25 3/16" x 10Mmx 1.0 3/16” Tuse Nut 316" X 3/8"-24
Tusr Hur 1 Tuge Nur 2] Tugr Nut 3 Wiower ] Tusr Hur ]

Total Pcs: 93

Sine2 0r 2










'I
¢
N

@

3020
3/16” - 1/4” Inuert Fuare
Brake Line Union

3024
3/16” x 9/16” OuensizEn
Tuse NuT Ouue 5

4238
12mm x 1.0 Brake
Line Uniton 7

3439
3/16” x 1/2” Ouersizen
Tuse Nur 2

Created: May 10th, 2011

.

3422
Gumx 12mmM x 1.5
Tuge Nur 2

3463
3/16" x10um x 1.0
Tuge Hur 2

34686
5/16" Tuer Mut
Lowg 3

Created: May 108, 2011







